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HOflf =%

THEX Sy« TH - FERI - HH50 PS4 T B B G AT & B T E (A5
il P9 - il
= 1 70, 381, 989
Mgt R T
= 1 57, 518, 660
f;IZIJ_;
= 1 57, 518, 660
A7) -$ R B 1600mm £ & (FTFRE) 15.
6m £ & WE) 1lm il L (
i) vV hE{EA250kg/m3
%N 200 187, 860 37, 572, 000
A7) -$ R B 1600mm £ & (FIRE) 14
2m & (#iE) 9.6m il L
HF) LAV ME(ER250kg/m3
%N 84 156,913 13, 180, 692
A7) -$ R B 1600mm £ & (FIFRE) 9.5
m & WiE) 4.9m L (
i) vV hE{EA250kg/m3
ZN 44 97, 923 4,308, 612
A7) -$ R Bk 1600mm £ & (FIFERE) 6.1
m £&WiE) 1.5m il L (
i) vV hE{EA250kg/m3
ZN 44 55, 849 2,457, 356
G RE K= NN
= 1 11, 315, 286
EE LT
= 1 3, 244, 707
R L
= 1 8,070, 579
NS LOHZY JRMRSARACT-R & 2m
SR FTIAR 1.5m
e 25 38, 053 951, 325
NS LOHZY JAMRSARAR )R S 6.5m
SARITIAR 2m
e 2 108, 632 217, 264
NS LOHZY JRMESARAR )R S 6.5m
SARIFITIAR 4.5m
# 8 111, 717 893, 736
NS LOHZY JRMESARAR )R S 6.5m
SARITIAR 6m
i 12 111, 717 1, 340, 604
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THEX Sy« TH - FERI - HH50 MoK T B B G AT & # T E (A5
NS 25HY JAESARACEAIRE S 2m
SRRFTIAR 1.5m
e 32 48, 081 1, 538, 592
Al & S SRR Ny MELOHEL W] & 5 SRR X 6.
5m SRBITIAR 2. 4m
e 2 1,110, 825 2,221, 650
R BR AR SD345 D16 X600
ZN 112 3, 669 410, 928
R BR AR SD345  D16X 700
ZN 116 4,280 496, 480
% T
= 1 1, 548, 043
KET
= 1 1, 548, 043
U7 Pk 12084 450 (m3/h) AR HHEK
= 1 1, 548, 043
B T HE
= 1 70, 381, 989
B ST e ¢
= 1 14, 359, 320
BTl TE:
= 1 8, 757, 095
TR
= 1 8,018, 996
T RR A oy FRAR ST A R
= 1 8,018, 996
Htre m
= 1 6, 625
A7 b B BRES 75 R46 518 H 3R BR
LA 1 6, 625 6, 625
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
BUGERRYCER (K5 1)
= 1 731, 474
MR R (L)
= 1 5, 602, 225
Wi
= 1 84, 741, 309
BTk X=giiv oy
= 1 23, 024, 212
R 5]
= 1 107, 765, 521
— e
= 1 18, 064, 479
T HAlik
= 1 125, 830, 000
TH & B 2 %8
= 1 12, 583, 000
TG
= 1 138, 413, 000
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